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Solving Sequence

Aknotdiagrarrﬂ 3v80*8’94'44'104'2%7ﬁ14'5ﬂ6ﬁ11»057010

C3 C9 C2 Cr C1 C4 C6 C11
Ideals for irreducible component#ﬂ)f Xpar

I = (u* —2u* 4 —du+ 1)
1= (u+1)

* 2 irreducible components of dim¢ = 0, with total 22 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I*=(u?—2u®4+... —4u+1)

(i) Arc colorings

w= (1)

1
ag = 0

1
ag — u2

—u

as = \ —u3 +u

—u?+1
a10 = \ —y? + 20?2

U
ag = u

—u?+1
a7 = _u2

—ud + 2u
a1 = —ud +u

u? —6u” + 11ud — 6u® —u
as = wd —5u’ + Tu® —4ud +u

ud — bub + Tut —4u? 4+ 1

as = \ul — 6ud + 11uf — 6u* — u?

20—l Tu—1
ann = \3u?0 —ul 4+ Tu—2

2020 — 4 Tu -1
a1 = \3u? — 9 4 4 Tu—2

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u!'? + 56u!” — 320u'® + 960u!3 — 4u'? — 1620u't + 36u'® +
1528u” — 116u® — 752u” + 160uS + 180u’ — 88u* — 36u3 + 12u? + 4u — 22



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Ca,C
2,53 w200 o —du— 1
C7,C8, Co
Cy4, Cg w30 o du+1
c5,C10, C11 Wl =9y o —du—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3 y?t =30y + -4+ 12y — 1
C7,C8, Co
€4, Co v+ 9y + 28y — 1
Cs5, €10, C11 =18y - 12y — 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u = —1.06100

—4.92648

—18.3220

u = 1.123400 4 0.1879371

—2.53083 — 3.484801

—13.9918 + 4.52611

uw= 1.123400 — 0.1879371

—2.53083 + 3.484801

—13.9918 — 4.52611

u = —1.180470 4 0.2195121

—7.35950 + 7.223471

—18.6971 — 5.75551

u = —1.180470 — 0.2195121

—7.35950 — 7.223471

—18.6971 + 5.75551

u = —0.767145

—4.86847

—19.4620

u= 1.26094

—11.2667

—21.9760

u= 0.442657 + 0.4463661

—2.17369 — 4.940441

—14.7247 4 7.22531

u = 0.442657 — 0.4463661

—2.17369 + 4.940441

—14.7247 — 7.22531

u = —0.341075 4 0.4255941

2.10652 + 1.433361

—8.34043 — 5.021901

u = —0.341075 — 0.42559471

2.10652 — 1.433361

—8.34043 + 5.021901

u= 0.211742 4 0.4647911

—1.49910 + 1.903091

—12.01421 4 0.144341

uw= 0.211742 — 0.4647911

—1.49910 — 1.903091

—12.01421 — 0.1443471

u=0.310992

—0.471210

—21.0170

= 1.75628 4+ 0.018841

—15.1678 — 0.29871

—17.7381 — 1.09091

= 1.75628 — 0.018841

—15.1678 4- 0.29871

—17.7381 4 1.09091

= —1.76483 + 0.044831

—13.01580 +- 4.458731

—14.9023 — 3.42901

—13.01580 — 4.458731

—14.9023 + 3.42901

= 1.77806 + 0.055361

—18.1190 — 8.42321

—19.2385 + 4.57191

= 1.77806 — 0.055361

—18.1190 + 8.42321

—19.2385 — 4.57191

U
U
U
u = —1.76483 — 0.044831
U
U
U

= —1.79531

16.9713

—21.9280




(i) Arc colorings

(ii) Obstruction class = —1

(iii) Cusp Shapes = —18

II. I; = ('u,—i— 1>



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C3
C5,C7, C8 u—1

C9, 10, C11
Cy4,Cp U




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3
C5,C7,C8 y—1

C9, 10, C11
Cq,Cp )




(vi) Complex Volumes and Cusp Shapes

Solutions to I3 v—1(vol + /—1C5) Cusp shape

uw = —1.00000 —4.93480 —18.0000




ITI. u-Polynomials

Crossings u-Polynomials at each crossing
C1,C2,C3 (u_l)(u21+2u20+_4u_1)
C7,C8,Co
C4, Co u(u? +3u® + -+ du+ 1)
¢s, €10, C11 (u—1)(u?* —9u® + - —4u—1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1,¢2,C3 (y—1)(y* —30y%° + -+ 12y — 1)
C7,C8,Co
Ca, Co y(y*t +9y” + -+ 28y — 1)
€5, €10, C11 (y— D) =18y +--- + 12y — 1)
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